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General Instructions-

. The question paper contains three sections

. Section A has 25 questions, attempt any 20 questions
. Section B has 24 questions , attempt any 20 questions
. Section C has 6 questions, Attempt any 5 questions

. All questions carry equal marks

. There is no negative marking

. Use of calculator and Log table is not permitted

TR -
(2 ) ¥ 95 & qI9 AqATT 3
(R)ATATNT & § 4 TF § FEH 20 YoAT & IAT AT 2
(3) ATATT & ¥ ¥ W g EH 0 TIAT F 3IqT AT B
(¥ )AIATT H§ H & WI g EH 4 TEr &7 Iq¢ &7 B
(4 ) TH T FOHF qUELC
(% ) FIE FITHF 1 F TE@EE Tol 2l

(9 ) FAFAET AT AN F ITINT Al AIATT Tl gl

N o O D w N



Section A
gsu
This Section A consists of 25 multiple questions with over all choice to attempt any 20
questions. In case more than desirable numbers of questions are attempted ONLY first 20

will be considered for evolution.

T @< U H R AT 20 weAl # g Fw F o ot et ® &y 25 agwer 2
gfe Fifeq #@=ar ¥ afgs vt &1 www GEr Jmar g @1 e & fow wae
T 20 W= AT STom)

Q1. Which of the following is not correct according to law of conservation of mass?

(@) 2Mg(s) +O2(g) = 2MgO(s)
(b) G3Hs(g) +02(g) =COx(g) + H20(g)
(©) Pa(s) + 502(g) = P4O10(s)
(d) CHs +202 (g) = COz (g) +2H20(g)

TT (¢ ) FA AW AW & FEw F aqaw Fwfefaa & & w9 4r 98 98t 92
(a) 2Mg(s) + 02 (g) = 2 MgO(s)
(b) CsHg(g) +02(g) = CO2 (g) + H20(g)
(©) Pa(s) + 502(g) = PsO10(s)
(d) CHs +202 (g) = CO2(g) +2H20(g)

Q2.An element X has following isotopic composition: 2°X: 90%, '**X: 8%,
202X 29%.The weighted average atomic mass of naturally occurring element X is
closest to........... ?-
(a) 199 amu
(b) 200 amu
(c) 20lamu
(d) 202 amu

T2, TF qaa X § Awtefas auenfas @w=ar 229X 90%, 99X 8%,
202X 2%.. ITHFfAF FT F 91T A9 a7 qcd X FT ARG 3Ed 9% ATEAHAE G4

LN %:
(a) 199 amu
(b) 200 amu
(c) 20lamu
(d) 202 amu
Q3. The number of water molecules is maximum in-........... ?

(a) 18 gram of water
(b) 18 molecules of water



(c) 18 moles of water
(d) 1.8 gm of water

T3, A F AU HI HEAT ATAHAH AT g -
(a) OTHT 9 LUATH
(b) ITHT 3 18 3]
(c) 18 HIeT IT=T
(d)1.8 U1 TT+HY

Q4.An organic compound contains C=40 % , H=13.33 % and N=46.67 % Its empirical
formulais—........... ?

(a) CoHoN

(b) GCsH/N

(c) CHuN

(d) CHN

T (¥ ) .UF FEEE AR T C=40%, H= 13.33% 3T N=46.67% AT § TR A9
T 2
(a) C,H,N
(b) C;H,N
(c) CHuN
(d) CHN

Q5 Which one is a set of iso-electronic species?
(a) Ny, CO,, CN -
(b) N, HS, CO
(¢) N, CO,CN -
(d) Ca, Mg, CI

T (5) FIF AT ASHI-TAFEIHEF TSI HT TH THg 572
(a) Na, COp, CN -
(b) N, HS, CO
(¢) N2, CO,CN -
(d) Ca, Mg, CI

Q6.In which of the following Hydrogen bond is the strongest?

a) F-H.. F
b) O-H.....0

) O-H.... F
d) H.... N



TH6. AT & | HIFAT grEgod die 9a9 Asgd g7

a) F- H........ F
b) O—H...... O
c) O-H....... F

Q7. Ortho-nitro phenol is less soluble in water than para- and meta — nitro phenol because? -

a) Melting point of Ortho-nitro phenol is lower those of m - & p — isomers.
b) Ortho-nitro phenol is more volatile in steam than m-and p- isomers

c) Ortho-nitro phenol shows intra molecular H-bonding

d) Ortho-nitro phenol shows inter molecular H-bonding

TH7. UXT- T HEl-ATSSIThATA il qaqT § AAT-ATSSRAT I+ § &7 Fgoaq o g
—-{ﬁ;_

(a) AAT-ATEZIMEATA FT TAATH TH-3T F-MTHHE F A% F FH gral @
(b) AAT-ATISITRATA TH-3T IT-AHHH AT AT § qT | ATeF ARIT g
(c) AAT-ATZSIEATA ST 0Tk TF-afteew f@mEar g

(d) SAAT-ATSZITRATA FAL AT TH-Fifeed f@mar g

Q8. Which of the following is never true for Cathode rays-?

(a)  They are electro magnetic waves
(b)  They produce heat

(c)  They produce mechanical pressure
(d)  They posses kinetic energy

wye. FEfefeT & w9 FoefFEon & oo i off 9o 58 22
(a) AfaEd FarT 4 2
() THT IqT FA &
(c) ¥ FAF TAEF I T 3
(d) ST F 9T ST el §

Q9. Which is correct statement about proton?

(a)  Proton is ionized hydrogen atom

(b)  Proton is nucleus of deuterium

(c)  Proton is ionized hydrogen molecule
(d)  None of these

T 9. WEiF F aC | Tal FIF &®iF AT 82



(a) TTeid =T FrEge 9THT 8
(b) TEi TERIH & ATTF @

(c) TTefd =T grEgeE v 8
(d) T8 & T AL

Q10. The chemistry of lithium is very similar to that of magnesium even though they are placed
in different groups. Its reason is:
(a) Both are found together in nature
(b) Both have nearly the same size
(c) Both have similar electronic configuration
(d) The ratio of their charge and size (i.e. charge density) is nearly the same

7710, I 7 @ET are § WIEH F 60 & 8, A gl Swe drwe a9gl |
TET AT gl TEET FEOT g
(a) TET TFA & UH GT q10 0T 8
(b) TAT FT HT T AT 8
(c) TET FT ToFe((aadh BT J99 g

(d) 3T AT ST AR (AT AT A1) HT ATATT ATAT THH &

Q11 The correct order of first ionization potential among following elements, Be, B, C, N and O
is
(a)B<Be<C<O<N
(b)) B<Be<C<N<O
(c) Be<B<C<N<O
(d)Be<B<C<O<N

[Nl enN

7711 Meferfga dc@i Be, B, C, N#R O H YIH A AfA9d FT el #F o

a)B<Be<C<O<N
(b)) B<Be<C<N<O
(c) Be<B<C<N<O
(d)Be<B<C<O<N

Q12. The group number, number of valence electrons, and valency of an element with the
atomic number 15, respectively, are:
(a) 16,5 and 2
(b) 15,5and 3



(c) 16,6 and 3
(d) 15,6 and 2

TH12. T HEAT, HASHAT ToiFeidl il HEAT ST GRH] HHE 15 qTT acd il
TATSTHAT FHT: B
(a) 16,5 3T 2
(b) 15,5 3T 3
(c) 16, 6 3T 3
(d) 15, 6 AT 2

Q13. The electronic configuration of an element is 1s2, 252 2p°, 3s 3p®. What is the atomic
number of the element which is just below the above element in the periodic table?
(a) 31
(b) 34
(c)33
(d) 49

TA13. UH qcd T Tolaeiad [aeamd 1s2 2s? 2p6, 352 3p* 81 SH qcd &1 ULHTY FHIH
FAT & ST AEqEot § IR dcF % Ik A+ 2

(a) 31
(b) 34
(c)33
(d) 49
Q14 If equal volumes of IM KMnO4 and 1M K,Cr,07 solutions are allowed to oxidize Fe’' in

(a) More with KMnO,

(b) More with K,Cr,05

(c) Equal with both oxidising agents
(d) Cannot be determined

TT14 TfE TFAT AILAH | Fe2 FT AFHIFd Fed & o IM KMnO4 3T 1M
K,Cr20;Aaal & F3ay aaaq & Tqufd & Sl gl e siiaFeiga @i
HTAT @Tﬁ:

(2) KMnO, . % 9T T (i
(b) KoCr0; . & AT 3fT 3Tfers
(c) FFT AFNFLT TS F T




(q) Fatfia 98t B s aear

QI15. One mole of N,Hy loses ten moles of electrons to form a new compound A. Assuming that
all the nitrogen appears in the new compound, what is the oxidation state of nitrogen in
A? (There is no change in the oxidation state of hydrogen.)
(a)-1
(b)-3
(c)+3
(d)+5

T715. NoHy T T I Uk 937 JARE A 9979 & o0 29 qrogaae=r &0 @r <41
gl 78 W\ T gu Ao quetiE § Gt 39 € A H ATsene A
ATFEHTRLOT STAEAT FAT g2 (BTZSISIT sl ATFHTHRLOT TAeAT § Fe Iadd dgl
CLELEA))

(a)-1
() -3
(c)3
(d)5

Q16. The oxidation number of Mn is maximum in ........... ?
(a) MnO,
(b) K2Mn04
(C) Mn;04
(d) KMnOs.
TT16. Mn T StaTHT0r g7 Afgsad grdat g
(a) MnO,
(b) KoMnOy
(C) Mn;304
(d) KMnOs.

Q17. The oxidation number of S in H,S,0g is ........... ?
(a)8
(b) 6
(c)4
(d)7

T717. HyS,05 H S HrAtF 0 eaTe
(a)8
(b) 6
(c) 4
(d)7



Q18. Water gas is mixture of hydrogen H, and........... ?
(a) CO
(b) CO,
(c) Cl,
(d) SO,
TA18. T T FTES o H2 3w . &7 fosqor g
(a) CO
(b) CO,
(c) Cl,
(d) SO,

Q.19. The displacement of electrons in a multiple bond in the presence of attacking reagent is
called........... ?
(a) Inductive effect
(b) Electromeric effect
(c) Resonance
(d) Hyper conjugation.

TA19. TAATAT ATHFHE hl IURAT § UH dgaed H ToacHAl & (GeqaT & Fgl
STaT §
(a) ANTHATHSHTAT

b) TR TR

(b)
(c) =
(q) BTETETHT
Q20. Which of the following cannot be represented by resonance structures?
(a) Dimethyl ether
(b) Nitrate anion
(c) Carboxylate anion
(d) Toluene

w720, Feferfea & & f&FF sqares w=amet g0 veida dgi BFar S |Jwar 82
(a) TEHATTASIT
(b) AT AT
(c)ehlsulorﬂmdsuqdl
)

(d) ZreTfa

Q21. Inductive effect involves........... ?
(a) displacement of ¢ electrons




(b) delocalization of & electrons
(c) delocalization of o-electrons
(d) displacement of m-electrons

TR . ANTHATHS: 919 § 9THA 2
(a) o TAFAT FT eI
(b) Tt #7 fAw=To
(c) o-TorFeT &1 e
)

(d) Tr-TorEetAl FT AT

Q22. Which of the following behaves both as a nucleophile and as an electrophile?
(a) CH;C =N
(b) CH;0H
(c) CH, = CHCH3
(d) CH3;NH;

v 22, Fefefag § & #19 Faaawea i soFermed a9l & &9 § T wdl
g2
(a) CH;C =N
(b) CH;0H
(¢) CH, = CHCHj
(d) CH;NH,

Q23.Which ordering of compound is according to the decreasing order of the oxidation state of
Nitrogen?

(a) HNO3, , NO, NH4C1, N2
(b) HNO;, , NO, N, NH,CI,
(C) HNO3, NH4C1, . NO, N2
(d) NO, HNOs, NH,CL, N,

TA23 ATSEISA il SAFHIHLT FTEAT % Ted FH & AT ATRIRERT HIA-AT FH 82

(a) HNO3, , NO, NH4C1, N2
(b) HNO;, , NO, N, NH,CI,
(C) HNO3, NH4C1, . NO, N2
(d) NO, HNO;, NH.CL, N,

Q24.The IUPAC name for the hydrocarbon represented by the swastika sign
Hhis...?

(a) Neononane



(b) Tetrathycarbon
(c) 2-ethyl pentane
(d) 3,3-diethyl pentane

W 24 .gT2el Fad & U [UPAC 919 Tafeas &g T sotar w2

(a) Neononane

(b) Tetrathycarbon

(c) 2-ethyl pentane
(d) 3,3-diethyl pentane

Q25 According to Huckel rule for aromaticity of compound , which compound is not a aromatic
compound?

(a) Naphathalene

(b) Anthracene

(c) Pyrole

(d) 1,3,5,7-cyclooctatetraene

D N o

T 25 . ATRIE AT e Tohg et (M A ST T R M E T TR A T e g 1 2
(a) Naphathalene
(b) Anthracene
(c) Pyrole
(d) 1,3,5,7-cyclooctatetraene

SECTION B
g€ B
This section consists of 24 multiple choice questions with overall choice to attempt any 20
questions. In case more than desirable number of questions isattempted ONLY first 20 will be
considered for evaluation.

TH @ § el {20 oI &7 g WA & (oW g9 AdeT & A1 24 sgiamedta ¥
g Aty Fifem g T Afgw s yae Ay Smar g 91 geated & oo FEe 98w

20 ¥ fa=m fFar Smom

Q26.Which one of the following compound contains electro-valent co-valent
and co-ordinate bond-



(a) Ca(CN),
(b) AI(OH),
(c) CaCb
(d) NH4Cl
w26 Fwfofea & o A § Toer-dde ggadieT i a9-ad a99- graT 8
(a) Ca(CN)z
(b) AI(OH);
(c) CaCb
(d) NH4CI

Q27.What is oxidation state of Co in [ Co(H,0)sCl ] 29
(a) +2
(b)y +3
(c) +1
(d +4

T727. [Co(H,0)sC1 ] > . & Co it ATaFTsheuT 3raedT 7 22
(a) +2
(b) +3
(c) +1
(d) +4

Q28. Hot concentrated sulphuric acid is a moderately strong oxidizing agent. Which of the
following reaction does not show oxidizing behavior?

(a) Cut2 H,S04—>  CuSOy4 + SO, +2H,0
(b) S+ H,S04 — 3 SO2 +2H,0

(c) C+2 H,SO04—  CO, + 2S0,+2H,0

(d) CaFy+ H,SO4— CaSO, + 2HF

T 28. TH Hiad AeF(<h UHES Uh HAHAH JAgd SAFEH0 Tsie gl qaH o FiF
Fafofaa gfa BT stietsr =age Jg1 RErdr 82
(a) Cut2 H,SO4 —»  CuSO4 + SO, +2H,0
(b) S+ H,SOs—~ 3 SO, + 2H,0
(c) C+2 H,SOs—  CO, +2S0;,+ 2H,0
(d) CaFs+ H,SO4—> CaSOy + 2HF




Q29.When a substance ‘A’ react with water, it produces a combustible gas ‘B’ and solution of
a substance ‘C’ in water When another substance ‘D’ reacts with this solution ‘C’ it
produces the same gas ’B’. On warming with ‘D’can produce ‘B’ on reaction with dilute
sulphuric acid at room temperature. ‘A’ imparts a deep golden yellow to a smoke less
flame of Bunsen Burner. A,B, C and D respectively are-

(a) Na ,H,, NaOH, Zn

(b) K, H,, KOH , Al

(c) Ca, Hy, Ca(OH), , Sn

(d) CaCz, C2H2, Ca(OH)z, Fe

T729. S Uk TETT A ITHT % ATT YATRAT FaT g, a7 I8 UF qgAdiar 99 'B' 3%
I H UF qETF 'C' FT A aATdr g1 S wie o gard D' W ae 'C' % "
gfa fFaT #ar g a7 g8t 9 'B' IS4 FAT gl 'l FAL F ATIHE I aIEergh
U F 979 IARIT 9% S F 9T T wA U |l I g AT gl v oaesd
FAT FT gU ARTAT F TEH T A dIAT [N J&F Far gl T, & &fiw =¥
FHA: B-

(a) Na ,H,, NaOH, Zn

(b) K, H,, KOH , Al

(c) Ca, Hy, Ca(OH); , Sn

(d) CaC,, C,H,, Ca(OH),, Fe

Q30. CCl, is —

(a) An electrophile
(b) A free radical
(¢) A nucleophile
(d) None of these

757 30. CCLL 8 —
(a) An electrophile
(b) A free radical
(c) A nucleophile
(d) None of these

Q31 Which of the following statement is not correct for a nucleophile?
(a@) Ammonia is nuceophile
(b) Nucleophile attack low electron density site
(c) Nucleophile are not electron seeking
(d) Nucleophile is Lewis acid



T3] FEAATREA & U Feed § 8 |91 799 Gel dal 8?
(a) Ammonia is nuceophile
(b) Nucleophile attack low electron density site
(c) Nucleophile are not electron seeking
(d) Nucleophile is Lewis acid

Q32.Which of the following compound is used for water softening?

(a) Ca3(PO4)2
(b)Na3PO4

(C) Na6P6018
(d)Na,HPO4

w2 Faffed & ¥ e @i &1 ST 99 g3 w2 & fou G Smar 22

(a)Ca3(PO4)2
(b)Na;PO4

(c) NagPeO1s
(d)NazHPO4

Q33.Hyperconjugatation involves overlap of the following orbital’s-
(a) o—o
(b) o-p
(¢) pp
(d nm-n

7T 333 " H Fefeied Fasi #7 AdeA™e ardd 8-

(a) o-o
(b) o-p
() pp
(d n-n

Q34. The correct stability order of the following resonance structure is-....?7

I H,C=N"=N~

I H,C -N=N~

I H,C-N"=N~

IV H,C-N=N"
(a) I>11>1V >
(by I>1I>1>IV
(c) I>I>II>IV
(d) MI>1>1V>II

T34, MR SqaTE §3aAT FT Jgl (09T #9 &-



I H,C=N"=N"

I HC -N=N~

I H,C-N"=N"~

IV H,C-N=N"
(a) I>11>1V>II
(b) I>M1I>11>IV
(c) I>I>1I>IV
(d) MI>1>1V>Il

Q35.Water softening by clark’s process uses-........ ?
(a) NaHCO;
(b) Ca(OH),
(C) Ca(HC03)2
(d) Na,CO;

T35, FATR Al THAT FIRT AA JGHT KT ITIRT FHAT @-
(a) NaHCO3
(b) Ca(OH),
(c) Ca(HC03)2
(d) Na,CO;

Q36. A mixture of potassium chlorate, oxalic acid and sulphuric acid is heated. During the
reaction which elements undergoes maximum change in the oxidation number ..7—

@ S
(b) H
(c) Cl
d C

T 36. TEMFH FANE, AFIE THE T ToRah RS & WA R T8 BRAT Srar

gl ATHTRAT F T R H TT AFEHIRT HLAT H ATIFAH qEadT wd B —
(@ S
(b) H
© Cl
@ C

Q37. Which of the following ions will cause hardness in water-?
(a) Ca™
(b) Na’
(c) CI
(d) K+



71 37. efefaa & & #1997 mga 9T § FSEAT FT RO F4I-
(a) Cat2
(b) Na+
) Cl-
(d) K+

Q.38. In the redox reaction-
MnO4 "+ 8H"+5Br — Mn" +4H,0 + 5/2 Br;
Which one of the following is the reducing agent?

(a) H'

(b)  MnO4 "
(c) Br-

(d Mn"

T 38.3S(H wiafwar d-
MnO4 "+ 8H" +5Br — Mn" +4H,0 + 5/2 Br,
9 & ¥ F9 91 qr=EEE g2

(a) H

(b) MnO4

(c) Br-

(d) Mn"

Q39. How many Hydrogen Bonded water molecule(s) are associated in CuSO4.5H,0........ ?
(@ 5
(b) 1
(c) 4
(d 3

7139, CuS04.5H,0 . § A ZrEgioe d¢sm 9+ & ASE gu 82
(@ 5
(b) 1
(c) 4
(d 3

Q40.Which of these will be oxidized by ozone?

(a) KI

(b) FeSO,
(C) KMnOy4
(d) K2Mn04

TA40.ZTH H AT ST FRT SAFFT gT?



(a)KI

(b) FeSO4
(c)KMnOy4
(d) K2Mn04

Q41. Consider isoelectronicspecies, Na ", Mg+2, F~, and 0'2, the correct order of increasing
length of their radii is-

(a) F<O?<Mg™?<Na"
(b) Mg ?<Na'<F<0?%
(c) O?<F<Na'<Mg"
(d) O?<F<Mg"™<Na”

o o o

TY 9. ATEHISF (% Joraat ue fa=m %%, Na, Mg 2, F -, 3w O 2, 31 =g
JEdl «aTe FT ol FH 8-
(a)F'<02'<Mg+2<NaJr
(b) Mg ™?<Na'<F<0?
(c) O?'<F <Na'<Mg™
(d) O?<F<Mg"™<Na”

Q42. The order of screening effect of electrons of s, p, d and f orbitals of a given shell of an atom
on its outer shell electrons is ........... 2
(a) s>p>d>f
(b)y f>d>p>s
(c)p<d<s>f
(d) f>p>s>d

T 42. TRHT 9RHT & TR0 T Fieren s, p, d 3 f Aifeleed & Toraeial & aTgdl FieT
FTAFCIAT T GHIAT TATT FT FH g

(a)s>p>d>f
(b) f>d>p>s
(c)p<d<s>f

(d) f>p>s>d

Q43.The statement that is not correct for periodic classificationof element is:

(a)The properties of element are periodic function of their atomic numbers.

(b) Non metallic elements are less in number than metallic elements.

(c)For transition elements, the 3d —orbitals are filled ith electrons after 3p- orbitals
and before 4s-orbitals.

(d) The first ionization energy of elements generally increases with increase in atomic
number as we go along a period



TA43.TA F AE(EH AR F [T ST FA9 Gl dol § a8 @
(T) T & IO IAhT ILAT] HEAT & AEaF FH gl
(b) LT TAl T HEAT oTfcas® qeal F FH rdl gl
(&) wwar qeat & o, 3 S-siifdeew 3 f-stifeecasharasiv 4 tH-aAifedeeq &
T el H WY B 2l
(31) Tl & TEAT AIARLOT Foll AHAL I LAY H&AT § Flag & a1
qEdl § FIh g7 TH qarg & A1 AT 8

Q44. The period number in long form of periodic table is equal to —

(a) Magnetic quantum number of any element of period

(b) Atomic number of any element of the period

(c) Maximum principal quantum number any of element of the period
(d) Maximum Azimuthal quantum number any of element of the period

TAEY AT O F X" w7 § qEd |edT aea) gl g -
(@ srafar & Gt oft 9 7 dahiT Fiew g
@) srata & Bt ot 9o #i aemTy '@
) st F T o a3 fr afeewaw g@ Fiew "
G aafa & G ff g & afdsraw s Few ge

Q45.Given below are two statements labelled as Assertion (A) and reason (R)

Assertion (A) : Though the central atom of both NH3; and H,O molecule are Sp3
hybridized, yet H-N-H bond angle is greater than that of H-O-H.

Reason(R) : This is because nitrogen atom has one lone pair and Oxygen atom has
two lone pairs of electron.

Select the most appropriate answer from the options given below:
(a)Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c)A is true but R is false.
(d) A is false but R is true .

TH45. = I FAAT KT OATT FAT (A) AT FROT(R)F €T H oo Fam @w g
SATHFAT (A) : GTeAiTeh NH33 Hy,O 9] FET & hald ILAT] Sp3 Haheiora &, fhesT H-
N-H €= H-O-H & a1fes g



FIOT (A): UAT THETAT g FTITeh ATSSo| GTHTY § UF STheAT SIET gal g Y
AT TRHT] H STl & &l el Se aid gl
= U ww Gweat § | gaitgd ITIE SaY F Faq il

() T 3T T Il FF § oY o U &t 95l ATEAT 2

(0)T ¥ AT TN T § AT AT T & Agl ATEAT Tol gl

()T &9 § AfFT o a1 ¢

()T HIT & AT A 7 2

T°q46. Given below are two statements labelled as Assertion (A) and reason (R)
Assertion (A) :-Generally , ionization enthalpy increases from left to right in a period

Reason(R): When successive electrons are added to the orbitals in the same principal
quantum level, the shielding effect of inner core of electrons does not increase very much
to compensate for increased attraction of the electron to the nucleus.

Select the most appropriate answer from the options given below:

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true and R is not the correct explanation of A.
(c) A is true but R is false.

(d) A is false but R is true .

T 46, F JT FAAT AT ATHFRAT (A) T FEOT(R)F €T § o9 FA7 737 2
ATAFAT (A) - AL IT 3Mad § 974 | M4 9 9T I T=eft 9 Al 2

FROT (R) : STF TH g THE FieH T I FATA § HiHEH TGl Bl ST STl

g, dI TSl & A FHIT FARIAT TATT ATHE F T A F dgd
ARG AT AXATS FA & [0 Fgd AfeF gl d@dr gl
= U ww Gweat § " gaitgd ITEE SaY F FAaq i

(a)T T AT IEN T 8 T A U i gl ATEAT 2

(b) T T AT I T4 8 3T AT T & 91 ATEAT 81 8l

()T ®F & AT AT FaT §

()T T & AT ¥ a7 2

Q47. Given below are two statements labelled as Assertion (A) and reason (R)

Assertion (A) : Permanent hardness of water is removed by treatment with washing
soda

Reason(R) :Washing soda reacts with soluble magnesium and calcium sulphate to form
insoluble carbonates.



Select the most appropriate answer from the options given below:
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c) A is true but R is false.
(d) A is false but R is true .

TT 47. = q FAAE FOATH FAT (A) T FROT(R)F ®T H wae Har w2
ATHFAT (A) : AT HIET F ITANR Fh T 00 €& FRaAr ®0 g2 BHar Srar
2
FUT (AR): AT Fraide a9+ & forw "t o offe H=fifomw &
FOTH e & ATT IIATHAT FaT Bl
= faw o Gwedt § ¥ "aitas SUgT SAY # FIT I
(a) T 3T T TET T g 3T A U Hil gl ATEAT 2
(b) T 3T AT M I g ¥ A U iy 97 ATSAT 71 8l
()T 9 g AT A HaT §
()T HT & Al AT 7 2
Q48. Given below are two statements labelled as Assertion (A) and reason (R)
Assertion (A) : Significant figures for 0.200 is 3 whereas for 200 it is 1.
Reason(R) :Zero at the end or right of a number are significant provided they are not at
the right side of the decimal point.
Select the most appropriate answer from the options given below:
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.

(c) A is true but R is false.
(d) A is false but R is true .

TH48. A= I FAAT KT ATHHAT (A) 3T FOT(R)F & § oJaer foham a7 8
ATHHAT (T): 0.200 F M0 Aged T siF 3¢ Sa6200% o 7g 1 2
FIOT (AAT): el H&AT & SAAEE A T AEdW § a9d o I9Med f&9g &
I AT AL
= faw o Gwedt & ¥ "@aiftas U S F 9T HI0
(a) T 3T T TET I ¢ 3T A U Hil gl ATEAT 2
(b) T 3T AT M FF g ¥ A U i 97 ATSAT 741 8l
(0)T &= & AfFT e 21
()T T & AT ¥ a7 2

49. Given below are two statements labelled as Assertion (A) and reason (R)




Assertion (A) :In the reaction potassium permanganate and potassium iodide ,
permanganate ions acts as oxidizing agent .
Reason(R) :Oxidataion state of manganese changes from +2 to +7 during the reaction
Select the most appropriate answer from the options given below:

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true and R is not the correct explanation of A.

(c) A is true but R is false.

(d) A is false but R is true .

TI49. T T FAAT F ATTFAT (A) ST FROT(R) F ®T H g BHAr1 7 8
Ffdsra (U): waferar § aefimy 9v dvae & Tefimw srEeTse, 9 AvEe
AT ATFTFLT USie o &7 § FF FaT gl
FTLOT (ATX): ITATHAT F ST AT T SR AaeqT2 |/ 7 0% 9ad ATl 8
= U w Gweat § | gaitgd ITIE SAY H FAaq i

(2)T AT AT I T 8 T AT T T ggr ATEAT 2
(b) T ST T IM1 97 8 ¥ AT U & 9gr AT 98! 2l
()T §F § ofehd T T &

()T 2T & Al e 79 2




Section C

CEL

Section C Contains choice questions with an overall choice to attempt any5.In case more
than desirable number of questions are attempted, ONLY first 5 will be considered for
evaluation.

TH @E Hoagasweds wT g, e ¥ 5T uF &1 g T F forw uw og=w
fwen 81 wfx Fifem e & ofgw w1 w=e B Srar 8, 9 gediEd F
forT e wger s aw fa=Te fm st

Q50. Match the column I with column II for the oxidation states of central atom.

I 11
(i) Cr,0; (p) 3
(i) MnO4 (q) +4
(iii) VO3~ (r)+5
(iv) Fe F¢> (s) +6

(t) +7

Which of the following are the best matched options?
(@) (1) —~(s); (i) — (V) ; (ii)) = (r) 5 (i) - (p)
(b) () ~(q) 5 (i) — (V) ; (ii)) = (p) ; (iv) - (1)
(c) () —(s); (i) — (V) ; (1)) — (q) ; (i) - (p)
(d) (1) ~(s) 5 (i) = (q) ; (ii)) = (r) 5 (i) - (p)

T 50. AT TIHTY AT SAFE RN SEEATSA & U T IR TG gHforq Ao
I 1l
(i) Cr,0; (p) +3
(i) MnO4” (@ +4
(iii) VO3 (r)+5
(iv) Fe F¢~ (s) +6
(t) +7

Fofofed § & far 999 =81 wam @Eed g2
(@) () —~(s); (i) — () ; (i) — (@) ; (iv) - (p)
(b) () ~(q) 5 (i) — (V) ; (ii)) — (p) ; (iv) - (1)
(c) () —(s)5 (i) — (V) ; (ii)) = (q) ; (i) - (p)
(d) () —(s) 5 (i) —(q) ; (iii) = (r) 5 (iv) - (p)

Q51. . Match the following rules with statements:



I

II

(1) Hunds rule

(p) No two electrons in an atom can have the same
set of four quantum number

(i1) Aufbau Principle

(q) Half filled and completely filled orbitals have
extra stability

(ii1)Paulis exclusion Principle (r) Pairing of electrons in orbitals belonging to

same sub shell does not take place until each
orbitals is singly filled

Principle

(iv) Hiesenberg ‘s Uncertainty (s) It is impossible to determine the exact position

and exact momentum of sub atomic particle
simultaneously

(t) In the ground state of atoms , orbitals are filled
in order of their increasing energies level

Which of the following are the best matched options?
(@) (1) =(s); (1) — (V) ; (iii) — (r) ; (V) - (p)
(b) () () 5 (i) = (1) ; (ii)) = (p) ; (iV) - (s)
(c) () —(s); () — (V) ; (iiD) — (q) ; (iv) - (p)
(d) () —(s) 5 (1) = (q) ; (ii1) = (r) ; (V) - ()

B R S b R ERIE PRI EIEREICECIRCE AL L

I 11
N (p) TF waTyp H el v gersedAl § AW fed e
(i) g w1 frm T TEM T AL BT qHAT 2
i et For (Q) 8 W% A7 T ae ¥ v gu aew § At

feorzar gt @

(iii) Tffere sfgwheor
g

(r) UF & ITH F FEARI § @Al & AT Jq TH

TEl g7 S a% TF T wew hd 9¥ 9 W)

(iv) BTESi=at T (s) IT-URHTY FOT HT " Fofa i 9+ Tfd AT UF
At tEdar i qry gt F7ar e g
(t) TEATEN T FTHET FGeAT H, 396 d9@8d ol TqL &
FH W Aifdeed 9 AT 3
Aefofaaaa M a =g AT (A eTe ?

(@) () —(8); (i) — () ; (ii) — (1) 5 (V) - (p)




(b) () ~(r) 5 (i) = (1) ; (iii) — (p) ; (iv) - (s)
(©) () —(s); ()= (0 ; (i) —(q) ; (V) - (p)
(d) ) ~(s) ;5 (i) — (@) ; (i) = (r) ; (i) - (p)

Q52.Which of the following is the correct [IUPAC name?

(a) 3- Ethyl -4,4 —diethylheptane
(b) 4,4 Dimethyl-3ethyl heptanes
(c) 5-Ethyl -4,4 dimethyl heptanes
(d) 4,4 —Bis(methyl)-3-ethylheptane

[Nl anN

TA52. Receaa s aarEat [UPAC ATHE?

(a) 3- Ethyl -4,4 —diethylheptane
(b) 4,4 Dimethyl-3ethyl heptanes
(c) 5-Ethyl -4,4 dimethyl heptanes
(d) 4,4 —Bis(methyl)-3-ethylheptane

Case 1: Read the passage given below and answer the following questions 53-55

According to MOT the electron in the molecule is present in molecular orbitals only which
are formed by linear combination of atomic orbitals of the atoms involved in bonding.
There is conservation of orbitals during their combination and shape of MO formed depend
upon the type of ovelap. In simple terms, the molecular orbital theory states that each atom
tends to combine together and form molecular orbitals. As a result, such arrangement,
electrons are found in various orbitals and they are usually associated with different nuclei.
In short, an electron in a molecule can be present anywhere in the molecule The electrons
occupy the MO’s in order of increasing energy. The stability of molecule can be predicted
by parameter called bond order.

[ e NI e N anN

F | AU TR e S A el e sh3 s 53-55

MOT & HTATT A H TAHIA Faal A% F&AT H AISE 214 & S0 agq H
TS IYHTUEN o UXHIN FEAT 6 IEd HANH § a9d gl 396 gAST &
T Hifdeed &®T HXAW AT g AT MO & AR AEAT F TR 9¢ A9
FLAT gl G Ml H, AUEaw FET HEa Fgar g F Td® TEy #7 gErd
AT & UF AT AR AOEaE FATC gATd g1 TH dvg i SHawedT & qIunH
FEY, Toded AT weTest § UTU A9 g Y o Awdie 9¥ fafes ary &
SE g gl "HHT W, UH AN H UH ToFeid A H Fgl Wl HIiSE gl d%dl g
TS AEE F FH W ToFE UH A UT FeAT K od gl Al AET ATHE
TRTfieY T AUl RURAT T AT AT ST gEar g




Q53. When O; changes to O, the electron goes to which of the orbitals?
(a) n orbital
(b) o orbital
(c) m* orbital
(d) o* orbital
T 53. 990,02 F TaA ATAT 8 —Torreid o w7 § 141 282
(a) n FT
(b) FeftT
(c) m* FefT
(d) o* Fefta
Q54. The number of anti bonding electrons in N3 is:
(a) 1
(b) 3
(c) 2
(d) 4
T 54. N2 H TEr Fifeesr Toraeial il H&aT 2
(@)l
()3
(c)2
(d)4
Q55.Which of the following species exhibits paramagnetic behavior?
(@) O,
(b) N,
(c) F»
(d) Ha
TI55. FEeed § & FAAr IS Aqganid FAage TEed wdl g2
(@) Oz
(b) N2
(c) F2
(d) Hy




